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Part 2: Constructed Response Task Section 
 

  Page 8 GO ON TO THE NEXT PAGE  

Finding Area Task 
 
Help Erin partition Figure 1 into two rectangles. 
 

 

 
 
 
a. Draw a line on Figure 1 above to show how you partitioned the whole figure into two rectangles. 

Write multiplication equations for the areas of each of the two rectangles. 
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Part 2: Constructed Response Task Section 
 

  Page 9 GO ON TO THE NEXT PAGE  

 
 
b. Use the areas of your two rectangles to find the total area of Figure 1. Explain with words  

or equations how you arrived at the total area using the areas of your two rectangles. 
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Part 2: Constructed Response Task Section 
 

  Page 10 GO ON TO THE NEXT PAGE  

 
 
Now help Erin partition Figure 1 in a different way. 

 

 
 

c. Draw a line on Figure 1 above to show your new way of partitioning the whole figure into 
two rectangles. Write multiplication equations for the areas of each of the two rectangles. 
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Part 2: Constructed Response Task Section 
 

  Page 11 GO ON TO THE NEXT PAGE  

 
 
d. Use the areas of your two new rectangles to find the total area of Figure 1. Explain with words 

or equations how you arrived at the total area using the areas of your two new rectangles.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
e. Erin claims that the total areas of the two partitioned figures cannot be the same because they 

are partitioned in different ways. Explain why you agree or disagree with Erin’s claim. Refer to 
your equations or the figures in your explanation. 

 
 

Page 4 of 61



Scoring Guide 
 

 

The CCSS for Mathematical Content (3 points) 

3.MD.C.7b Indicates accurate multiplication expressions for at least three of the areas of 
the partitioned rectangles.  
(1 Point)  

 

3.MD.C.7d(x) Decomposes the figure into two or more rectangles and identifies the area of 
each rectangle and then recomposes the areas to arrive at the total area of the 
figure.  (First partitioning of the figure) 
(1 Point) 

 

3.MD.C.7d(z) Decomposes the figure into two or more rectangles and identifies the area of 
each rectangle and then recomposes the areas to arrive at the total area of the 
figure. (Second partitioning of the figure)  
(1 Point) 

 

 

 

The CCSS for Mathematical Practice (3 points) 

MP4 Indicates multiplication equations for individual rectangles. 
(1 Point) 
(MP4:  Model with mathematics.) 
   

 

 

MP6 Indicates accurate calculations.  Indicates a precise explanation for part e. 
(1 Point) 
(MP6:  Attend to precision.) 
 

 

MP7 Indicates that the total area remains the same regardless of how the figure is partitioned and 
then recombined.   
(1 Point) 
(MP7:  Look for and make use of structure.) 
 

 

                                                                                                                        TOTAL POINTS:   6 
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The CCSS for Mathematical Content Addressed In This Task 

Geometric measurement: understand concepts of area and relate area to multiplication and to 

addition.  

3.MD.C.7b 
Multiply side lengths to find areas of rectangles with whole-number side lengths in 
the context of solving real world and mathematical problems, and represent whole-
number products as rectangular areas in mathematical reasoning. 

3.MD.C.7d  
Recognize area as additive. Find areas of rectilinear figures by decomposing them 
into non-overlapping rectangles and adding the areas of the non-overlapping parts, 
applying this technique to solve real world problems.   

 
 
 
 
 

The CCSS for Mathematical Practice* 

1. Make sense of problems and persevere in solving them. 

2. Reason abstractly and quantitatively. 

3. Construct viable arguments and critique the reasoning of others. 

4. Model with mathematics. 

5. Use appropriate tools strategically.  

6. Attend to precision. 

7. Look for and make use of structure. 

8. Look for and express regularity in repeated reasoning. 

 

* Gray type indicates Mathematical Practices not addressed in this assessment. 
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Anchor 1   Litho 0013 

 
Total Content Points: 3 (3.MD.C.7b, 3.MD.C.7d(x), 3.MD.C.7d(z)) 

 

Total Practice Points: 2 (MP4, MP7) 

 
The student provides a total of four accurate multiplication expressions for the areas of 

the partitioned rectangles: 3 × 8 and 5 × 6 in Part A, and 5 × 9 and 3 × 3 in Part C 

(3.MD.C.7b). In Part A, the student decomposes the figure into two rectangles and 

identifies the area of each (3 × 8 = 24, 5 × 6 = 30), then in Part B recomposes the areas to 
arrive at the total area of the figure (30 + 24 = 54) (3.MD.C.7d(x)). In Part C, the student 

decomposes the figure into two different rectangles and identifies the area of each 

(5 × 9 = 45, 3 × 3 = 9), then recomposes the areas to arrive at the total area of the figure 

(45 + 9 = 54) (3.MD.C.7d(z)). The student provides a total of four multiplication 
equations representing individual rectangles in Parts A and C (MP4). The student 

provides accurate calculations, but the explanation in Part E is imprecise because the 

student refers to the figures as having “the same big shape” instead of the same area 

(no credit for MP6). However, the explanation in Part E does indicate that the total area 
remains the same regardless of how the figure is partitioned and then recombined (MP7). 

 

Total Awarded Points: 5 out of 6 
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Anchor 2   Litho 00062 

 
Total Content Points: 2 (3.MD.C.7b, 3.MD.C.7d(x)) 

 

Total Practice Points: 3 (MP4, MP6, MP7) 

 
The student provides three accurate multiplication expressions for the areas of the 

partitioned rectangles: 5 × 6 and 8 × 3 in Part A, and 3 × 9 in Part C (3.MD.C.7b). In 

Part A, the student decomposes the figure into two rectangles and identifies the area of 

each (5 × 6 = 30, 8 × 3 = 24), then in Part B recomposes the areas to arrive at the total 
area of the figure (30 + 24 = 54) (3.MD.C.7d(x)). In Part C, the student decomposes the 

figure into one rectangle and provides a correct equation to identify the area (3 × 9 = 27), 

but the other decomposed figure is not rectangular and the equation identifying the area 

does not match the dimensions of the shape (no credit for 3.MD.C.7d(z)). The student 
provides two correct multiplication equations representing individual rectangles in Part A 

and one in Part C (MP4). The calculations throughout the task are precise, as is the 

explanation in Part E (MP6). In Part E, by disagreeing with Erin and providing equations 

that show the sums for the partitioned rectangles from both Parts B and D, the student 
indicates the total area remains the same regardless of how the figure is partitioned and 

then recombined (MP7). 

 

Total Awarded Points: 5 out of 6 
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Anchor 3   Litho 0055 

 
Total Content Points: 3 (3.MD.C.7b, 3.MD.C.7d(x), 3.MD.C.7d(z)) 

 

Total Practice Points: 1 (MP4) 

 
The student provides a total of four accurate multiplication expressions for the areas of 

the partitioned rectangles: 6 × 5 and 8 × 3 in Part A, and 9 × 5 and 3 × 3 in Part C 

(3.MD.C.7b). In Part A, the student decomposes the figure into two rectangles and 

identifies the area of each (6 × 5 = 30, 8 × 3 = 24), then in Part B recomposes the areas to 
arrive at the total area of the figure (30 + 24 = 54) (3.MD.C.7d(x)). In Part C, the student 

decomposes the figure into two different rectangles and identifies the area of each 

(9 × 5 = 45, 3 × 3 = 9), then recomposes the areas to arrive at the total area of the figure 

(45 + 9 = 54) (3.MD.C.7d(z)). The student provides a total of four multiplication 
equations representing individual rectangles in Parts A and C (MP4). Calculations 

throughout the task are accurate, but the explanation in Part E is unclear and refers only 

to the figure partitioned in Part C (no credit for MP6). Therefore the student does not 

indicate that the total area remains the same regardless of how the figure is partitioned 
and then recombined (no credit for MP7). 

 

Total Awarded Points: 4 out of 6 
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Anchor 4   Litho 01233200015 

 
Total Content Points: 3 (3.MD.C.7b, 3.MD.C.7d(x), 3.MD.C.7d(z)) 

 

Total Practice Points: 1 (MP4) 

 
The student provides a total of four accurate multiplication expressions for the areas of 

the partitioned rectangles: 6 × 5 and 8 × 3 in Part A, and 9 × 5 and 3 × 3 in Part C 

(3.MD.C.7b). In Part A, the student decomposes the figure into two rectangles and 

provides correct expressions, then in Part B identifies the area of each rectangle 
(6 × 5 = 30, 8 × 3 = 24) and recomposes the areas to arrive at the total area of the figure 

(30 + 24 = 54) (3.MD.C.7d(x)). In Part C, the student decomposes the figure into two 

different rectangles and identifies the area of each (9 × 5 = 45, 3 × 3 = 9), then, also in 

Part C, recomposes the areas to arrive at the total area of the figure (45 + 9 = 54) 
(3.MD.C.7d(z)). Although in Part A the student provides only expressions and not 

equations, multiplication equations representing individual rectangles are given in Part C 

(MP4). Calculations throughout the task are accurate, but the explanation in Part E is 

unclear (“a rectangle can not be at the same angel. It has to be to different numbers”) 
(no credit for MP6). The student also does not indicate that the total area remains the 

same regardless of how the figure is partitioned and then recombined (no credit for MP7). 

 

Total Awarded Points: 4 out of 6 
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Anchor 5   Litho 0002 

 
Total Content Points: 2 (3.MD.C.7b, 3.MD.C.7d(x)) 

 

Total Practice Points: 1 (MP4) 

 
The student provides three accurate multiplication expressions for the areas of the 

partitioned rectangles: 5 × 6 and 3 × 8 in Part A, and 3 × 6 in Part C (3.MD.C.7b). In 

Part A, the student decomposes the figure into two rectangles and identifies the area of 

each (5 × 6 = 30, 3 × 8 = 24), then in Part B recomposes the areas to arrive at the total 
area of the figure (“30 and add 24 and you get 54”) (3.MD.C.7d(x)). Because of the 

overlapping rectangles in Part C (2 × 9 and 8 × 3), the student does not successfully 

decompose the figure (no credit for 3.MD.C.7d(z)). The student provides two 

multiplication equations representing individual rectangles in Part A and one in Part C 
(MP4). In Part D the calculation 18 + 24 = 60 is inaccurate, and in Part E the explanation 

is unclear (no credit for MP6). Furthermore, the explanation does not indicate that the 

total area remains the same regardless of how the figure is partitioned and then 

recombined (no credit for MP7). 
 

Total Awarded Points: 3 out of 6 
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Anchor 6   Litho 01173200015 

 
Total Content Points: 2 (3.MD.C.7b, 3.MD.C.7d(z)) 

 

Total Practice Points: 1 (MP4) 

 
The student provides a total of four accurate multiplication expressions for the areas of 

the partitioned rectangles: 6 × 2 and 5 × 2 in Part A, and 5 × 6 and 8 × 3 in Part C 

(3.MD.C.7b). In Part A, the student indicates two rectangles in the figure and provides 

correct equations representing these, but does not successfully decompose the entire 
figure into smaller rectangles in order to recompose them and arrive at the total area of 

the figure (no credit for 3.MD.C.7d(x)). However, in Part C the student correctly 

recognizes the process to decompose the figure into smaller non-overlapping rectangles, 

finding the areas for these, then recomposing by adding the areas to find the total area of 
the figure (3.MD.C.7d(z)). An inaccurate calculation (5 × 6 = 45) causes the student to 

arrive at an incorrect area (69) (no credit for MP6). The student provides two 

multiplication equations representing individual rectangles in Part A and one (8 × 3 = 24) 

in Part C (MP4). The student does not indicate that the total area remains the same 
regardless of how the figure is partitioned and then recombined (no credit for MP7). 

 

Total Awarded Points: 3 out of 6 

 

Page 36 of 61



Response#: 14-a Litho#: 0030

Secure Material: Do Not Copy!

Page 55 of 102

A-7a

Page 37 of 61

cbrown
Text Box

cbrown
Text Box



Response#: 14-b Litho#: 0030

Secure Material: Do Not Copy!

Page 56 of 102

A-7b

Page 38 of 61

cbrown
Text Box

cbrown
Text Box



Response#: 14-c Litho#: 0030

Secure Material: Do Not Copy!

Page 57 of 102

A-7c

Page 39 of 61

cbrown
Text Box

cbrown
Text Box



Response#: 14-d Litho#: 0030

Secure Material: Do Not Copy!

Page 58 of 102

A-7d

Page 40 of 61

cbrown
Text Box

cbrown
Text Box



Anchor 7   Litho 0030 

 
Total Content Points: 2 (3.MD.C.7d(x), 3.MD.C.7d(z)) 

 

Total Practice Points: 1 (MP4) 

 
The student provides only two accurate multiplication expressions for the areas of the 

partitioned rectangles: 5 × 6 in Part A and 3 × 3 in Part C. The other two expressions 

inaccurately represent the partitioned rectangles (3 × 10 in Part A and 6 × 9 in Part C) 

(no credit for 3.MD.C.7b). For the partitioning of the figure in both Parts A and C, the 
student uses the correct process to decompose the figure into smaller, non-overlapping 

rectangles, identifying the areas of these, and then recomposing the areas to arrive at the 

total area of the figure (3.MD.C.7d(x); 3.MD.C.7d(z)). However, in each part the student 

miscounts and shows an inaccurate representation for one of the partitioned rectangles, 
thus arriving at an incorrect area for each of the figures (no credit for MP6). The student 

provides multiplication equations representing individual rectangles: 5 × 6 = 30 in Part A 

and 3 × 3 = 9 in Part C (MP4). The student incorrectly agrees in Part E that the figures 

cannot have the same area, and the explanation offered does not indicate that the total 
area remains the same regardless of how the figure is partitioned and then recombined 

(no credit for MP7). 

 

Total Awarded Points: 3 out of 6 
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Anchor 8   Litho 01003200015 

 
Total Content Points: 1 (3.MD.C.7d(x)) 

 

Total Practice Points: 1 (MP4) 

 
In Part A, the student provides two accurate multiplication expressions for the areas of 

the partitioned rectangles (3 × 8 and 5 × 6), but in Part C the student repeats the 

partitioning and uses the same equations (no credit for 3.MD.C.7b). In Part A, the 

student decomposes the figure into two rectangles and identifies the area of each 
(3 × 8 = 24, 5 × 6 = 30), and then in Part B recomposes the areas to arrive at the total 

area of the figure (“you add 30 and 24 and it equils 54”) (3.MD.C.7d(x)). In Part C, 

the student does not partition the figure in a different way, but repeats the work from 

the first partitioning (no credit for 3.MD.C.7d(z)). In Part A, the student provides two 
multiplication equations for individual rectangles (MP4). The student gives accurate 

calculations in all parts, but the calculations in Parts C, D, and E are copies of the 

work from Parts A and B and do not provide sufficient evidence of precision. 

Additionally, the explanation in Part E is unclear (no credit for MP6). It does not 
indicate that the total area remains the same regardless of how the figure is partitioned 

and then recombined (no credit for MP7). 

 

Total Awarded Points: 2 out of 6 
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Anchor 9   Litho 0014 

 
Total Content Points: 1 (3.MD.C.7d(z)) 

 

Total Practice Points: 1 (MP4) 

 
In Part C, the student provides two accurate multiplication expressions for the areas of 

the partitioned rectangles (3 × 8 and 5 × 6), but in Part A the expressions do not represent 

any partitioned rectangles (no credit for 3.MD.C.7b). In Part A, the student partitions the 

figure into rectangles, but does not provide equations representing any of these 
rectangles, and therefore does not successfully decompose the entire figure into smaller 

rectangles in order to recompose them and arrive at the total area of the figure (no credit 

for 3.MD.C.7d(x)). In Part C, the student decomposes the figure into two rectangles and 

identifies the area of each (3 × 8 = 24, 5 × 6 = 30), and then in Part D recomposes the 
areas to arrive at the total area of the figure (“by multiplying and adding to get 54”) 

(3.MD.C.7d(z)). In Part C, the student provides two multiplication equations for 

individual rectangles (MP4). Accurate calculations are provided, but the explanation in 

Part E is unclear (no credit for MP6). The student agrees in Part E that the figures cannot 
have the same area, and the explanation offered does not indicate that the total area 

remains the same regardless of how the figure is partitioned and then recombined 

(no credit for MP7). 

 
Total Awarded Points: 2 out of 6 
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Anchor 10   Litho 0067 

 
Total Content Points: 1 (3.MD.C.7d(x)) 

 

Total Practice Points: 0 

 
The student does not provide any multiplication expressions in Parts A or C (no credit 

for 3.MD.C.7b). In Part A, the student decomposes the figure into two rectangles and 

identifies the area of each (30 + 24), and then in Part B recomposes the areas to arrive at 

the total area of the figure (“24 as an area and the other side had 30 as an area. My sum 
was 54”) (3.MD.C.7d(x)). In Part C, the student does not decompose the figure into 

different rectangles, but instead provides one rectangle and another non-rectangular shape 

(no credit for 3.MD.C.7d(z)). The student does not provide any multiplication equations 

(no credit for MP4). Some accurate calculations are provided, but there are no 
multiplication equations to show the areas, and the explanation in Part E is unclear, so 

there is insufficient evidence of precision (no credit for MP6). In Part E, the student does 

not indicate the total area remains the same regardless of how the figure is partitioned and 

then recombined (no credit for MP7). 
 

Total Awarded Points: 1 out of 6 
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Anchor 11   Litho 01093200015 

 
Total Content Points: 0  

 

Total Practice Points: 0  

 
The student provides only two multiplication expressions representing areas of 

partitioned rectangles (8 × 3 and 6 × 5) in Part C, with no multiplication expressions 

provided in Part A (no credit for 3.MD.C.7b). In Part A, the student does not provide 

equations representing any partitioned rectangles, and therefore does not successfully 
decompose the entire figure into smaller rectangles in order to recompose them and arrive 

at the total area of the figure (no credit for 3.MD.C.7d(x)). In Part C, the student 

decomposes the figure into two rectangles and identifies the area of each (“8 × 3 which is 

24 . . . 6 × 5 which is 30”), but in Part D does not recompose the areas to arrive at the 
total area of the figure (no credit for 3.MD.C.7d(z)). The student does not provide the 

multiplication equations for individual rectangles, as “8 × 3 which is 24” and “6 × 5 

which is 30” are not considered equations without an equal sign (no credit for MP4). The 

calculation in Part A (“9 × 8 which is 81”) is inaccurate (no credit for MP6). In Part E, 
the student’s explanation does not indicate that the total area remains the same regardless 

of how the figure is partitioned and then recombined (no credit for MP7). 

 

Total Awarded Points: 0 out of 6 
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